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Math Quiz # 1
Unit\lessons 7.1,7.2,7.3,7.4,75

Name: Gr 4:

Question 1: Complete each equation / pts.

32 ones + 8 = ones +8=4

32 +8 = tens 320+ 8=

32 hundreds + 8 = hundreds +8=

Question 2: Estimate the quotient using compatible numbers /4 pts.
a) 342-+8 b) 2134-+7

Question 3: Use equal sharing to solve the problem. You can draw o show your answer .

/ 6pts.

a) 86+2-=

b) 78 -3 =

c) There are 84 chairs for a wedding. Each table has 6 chairs around it. How many

tables are there?

84+6-=
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Question 4: Use partial quotient to find the unknown. Show your working /6 pts.

a) 185+5= b) 5376 +3=

C) Hind loads a cart with 7 cinder blocks. The total weight of the cinder clocks
is 224 kilograms, and each block has the same weight. How much does each
cinder block weigh?

Each cinder block weighs

Total: / 20

Comment:
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Unit\lessons 7.1,7.2,7.3,74,75
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Name: Gr 4:

Question 1: Complete each equation /4 pts
Ploaice Vollue Wor()S Numbers, (ONDY

32 ones + 8 = L ones 32 +8=4

32 _tens 8 =__ U tens —— [320:8=__LO

32 hundreds + 8 = L hundreds —= 5200 +8=__noo:
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Question 4: Use partial quotient to find the unknown. Show your working /6 pts.
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C) Hind loads a cart with 7 cinder blocks. The total weight of the cinder clocks

is 224 kilograms, and each block has the same weight. How much does each
cinder block weigh?
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Each cinder block weighs
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